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5 x 10 = 10 x 5 = 50 
5 x 20 = 100 
5 x 50 = 250 
5 x 100 = 500 

12 x 10 = 10 x 12 =  120 
15 x 10 =  150 
10 x 23 =  230 
54 x 10 =  540 

 

• Observe l’exemple et complète : 
 

  27  
x 20 7  

� 
6 120 42  

 27 x 6 = (20 + 7) x 6 
27 x 6 = (20 x 6) + (7 x 6) 
27 x 6 = 120 + 42 
27 x 6 = 162   = 162  

 

  14  
x 10 4  

� 
5 50 20  

 14 x 5 = (10 + 4) x 5 
14 x 5 = (10 x 5) + (4 x 5) 
14 x 5 = 50 + 20 
14 x 5 = 70   = 70  

 

  58  
x 50 8  

� 
3 150 24  

 3 x 58 = 3 x (50 + 8) 
3 x 58 = (3 x 50) + (3 x 8) 
3 x 58 = 150 + 24 
3 x 58 = 174   = 174  

 

  21  
x 20 1  

� 
7 140 7  

 21 x 7 = (20 + 1) x 7 
21 x 7 = (20 x 7) + (1 x 7) 
21 x 7 = 140 + 7 
21 x 7 = 147   = 147  

 

  19  
x 10 9  

� 
4 40 36  

 4 x 19 = 4 x (10 + 9) 
4 x 19 = (4 x 10) + (4 x 9) 
4 x 19 = 40 + 36 
4 x 19 = 76   = 76  

 

• Calcule : 
 

4 0 
x    6 
2 4 0 

2 0 
x    7 
1 4 0 

3 0 
x    9 
2 7 0 

5 0 
x    7 
3 5 0 

2 0 
x    9 
1 8 0 

4 0 
x    8 
3 2 0 

 

8 0 
x    7 
5 6 0 

9 0 
x    6 
5 4 0 

7 0 
x    4 
2 8 0 

4 0 
x    8 
3 2 0 

9 0 
x    8 
7 2 0 

8 0 
x    9 
7 2 0 

 


